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ppm ppm ppm ppm % |Nm3/hr| ppm ppm ppm ppm % | Nm3/hr
00:00 1=hE (2 0 (R =& (20 3.43 47.28 1248 | 12.20 0.98 |76932.14
01:00 (e (e (3 (e 2 (e 4.11 45.13 11.88 17.41 1.00 | 77786.10
02:00 i =5 1508 e =18 fEf 242 47.55 8.87 9.11 0.99 |77869.52
03:00 (B3 1= (B3 (e (B = 0E 3.86 47.98 14.27 10.21 1.00 | 77469.51
04:00 i =8 1508 =i =18 fEf 3.41 49.31 11.06 | 11.89 1.00 [78222.93
05:00 B2l = hE 1= 0E il =0 il 244 44.48 4.06 11.25 1.00 | 75770.36
06:00 (=31 e 128 =g (30 1= 414 48.01 8.52 13.28 0.99 |77434.05
07:00 e = hE 2 (e 2 = hE 3.15 48.84 15.71 11.55 0.98 |76684.72
08:00 i =5 1508 e =18 fEf 3.05 47.18 19.05 | 12.20 0.99 |81189.21
09:00 B2 = hE 1= 0E 0 1= hE (e 3.26 45.49 6.03 11.66 1.05 [80496.14
10:00 i 3 1508 =i =18 fEf 2.83 38.10 11.08 | 1053 1.05 |76506.90
11:00 = = hE =l (e 2 = 0E 2.53 44.16 10.28 12.53 1.06 |80808.12
12:00 i =8 1508 e =18 fEf 5.54 4669 | 2173 | 11.39 1.05 [77734.39
13:00 (G (=2 (G (e (G = hE 6.09 47.20 12.32 12.84 1.06 | 77958.57
14:00 i =5 3 e =g fEf 7.32 47.47 15.39 | 12.05 1.06 |77617.29
15:00 B3 e 3 S =g = hE 12.88 | 4351 15.61 | 13.20 1.06 |78131.12
16:00 i =5 3 e =g s 6.34 38.08 7.24 11.31 1.04 |73670.41
17:00 f s =08 1= 0E 0 1= 0E 0 6.11 40.14 4.35 14.13 1.04 | 74060.58
18:00 i =15 3 e =g s 3.28 40.81 6.04 12.25 1.04 |74109.95
19:00 s = hE 1= 0E 0 1= 0E 0 2.39 39.70 9.76 12.74 1.05 | 76629.42
20:00 i =5 3 e =g fEf 2.29 43.79 4.98 11.02 1.05 |76955.56
21:00 s = hE 1= 0E 0 =0 0 1.70 42.53 7.24 10.93 1.06 | 76564.49
22:00 i =5 3 e =g s 3.78 45.84 5.54 13.65 1.06 |77706.31
23:00 s = hE 1= 0E 0 1= 0E (e 3.74 45.84 4.76 11.95 1.04 | 76788.93




